DO NOT OPEN THE BOOKLET UNTIL YOU ARE TOLD TO DO SO.

POLYTECHNIC ADMISSION TEST - 2019
SET - B

Time : Two Hours
Full Marks : 100

Read the following instructions carefully before you begin to answer the questions.

Example :

10.

11.

INSTRUCTIONS TO CANDIDATE

IMMEDIATELY AFTER RECEIVING THE TEST BOOKLET YOU SHOULD CHECK THAT
THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR
ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

This booklet contains 100 questions to be answered in a separate OMR Answer Sheet using
Black Ball Point Pen in circles only as shown below @

Read the questions carefully before marking your answer. Candidates are strongly advised not to
change or erase once the answer is marked.

All questions are compulsory and carry 1 mark each.

You will be supplied the Answers Sheet separately by the invigilator. You must complete the details
of particulars asked for, all are mandatory.

Answers must be shown by completely blackening the corresponding circles in the Answer Sheet
against the relevant question number by Black Ball Point Pen.

Supposing the following question is asked :

The Capital of Manipur is—

(@) Guwabhati (b) Imphal

(c) Shillong (d) Goa

You will have four alternatives in the Answer Sheet for your response corresponding to each question

of the Question Booklet as below :
®@O®O@

In the above illustration, if your chosen response is alternative (b) i.e. Imphal, then the same should
be marked on the Answer Sheet by blackening the relevant circle with a Black Ball Point Pen only

as below : @.@@

WHICH IS THE ONLY CORRECT METHOD OF ANSWERING.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and
others easy. Do not spend too much time on any one question.

There will NOT be any negative marking for wrong answers. ‘
The OMR Answer Sheet must be handedover to the invigilator before you leave the Examination
Hall.
No rough work is to be done on the OMR Answer Sheet. Space for rough work has been provided
in the question booklet.

Examination will be cancelled if a candidate is found to adopt unfair means, in any form.
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SET -B
Full Marks : 100 Time : Two Hours

There are 100 questions in this question booklet. 1-40 in Part-I and 41-100 in Part-1I. Each
question carries 1 (one) mark. For each of the following questions from 1 to 100, four answers
@), ®: (c) and (@) are provided, out of which only one is correct. Darken the circle against
the correct answer with Black Ball Point Pen. Darkening more than on¢ circle will be

considered as wrong answers.

orst TS 10051 opl WCRI RWC 14 o1 40TA A 46T Aw 41- 7 100 ts1 A
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PART -1
MATHEMATICS
1. The value of cosl® cos2° cos3°......... c0s179° cos180° is
cos1® cos2° €os3°......... c0s179° cos180°F =\ '3

® 1 ® 0
© -1 @ 5
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2. If sin® +sin?0=1, then cos®®+ cos'd =

I sin@ +sin’0=1, (ST¥ cos’0 +cos'O =
® -1 b 1
© o (d) None of these

G3RAT B8 A

3. The value of 8 which satisfies the equation cos = /3 sin@ is 4

03 & WA AR cosh = 3 sin® T TI 2

@ 60° () 30°
(©) 45° (@ 90°

4. If a 1'5m tall girl stands at a distance of 3m from a lamp post and casts a shadow
of length 4'5m on the ground then the height of the lamp post is

1'5m SweR @RE qeR Rgex {5 GOR AR 3m Fee ARE @REE 'E O
4-5m zW, (5% PIHR THOl 27

@ 15m (® 2:8m
© 2m : (@ 2:5m

5. The sum of first 100 natural numbers is
o2 10051 TR MR @9F 33

@ 4950 (B 5000
(c) 5050 (@ 2550
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6. The angle of elevation of the top of a tower from a point on the ground, which s
30m away from the foot of the tower is 30°, The height of tower is

amwmwmﬁmwﬁwqﬁswmﬁﬁwwm%%mmm
WEGIR THel 3’7

@\/—lgm @ \/3—m

©HFm | | @ 105 m

(1+tan® A)
1. 75 - =9
(I1+cot” A)
@ tan?A @ cot?A.
(©) sec’A (d cosectA
8.

Father is 3 times as old as his son. After 12 years he will be twice as old as his
son. Present age of son is

(TSI T 9JToFT I 3 e | 12 I579 i (TOOITT I 2o T 7@l 27|
TSI IS A 77 |

@ 10 years | @ 13 years
(©) 15 years (@ 12 years

9. £ A(=2,3), B(6, 7), C(8, 3) and D (x, y) are the vertices of the parallelogram
ABCD, then value of x and y are

A B CD refRes AR5t A (-2, 3), B (6, 7), C(8,3) o D(x y) TC x WF

. YS NI ¥] |
@ 1,0 - ® o1
©-1,0 @ o, -1
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10. If the points P (1, 2), Q(0, 0) and R (a, b) are collinear, then

11.

12.

13.

@ P (1, 2), Q(0, 0) =F R(a, b) Rrfeesl @@ 28 (908

@ a=b () a=2b
(©) 2a=b @ a+b=0

If the centroid of the triangle formed by the points (a, b), (b ¢) and (c, a) is (0, 0)
at the origin, then a*+b’+ =

@ b), (b, c) W% (c, a) MRy RFE fagedm smeee (0, 0) P L

@ abc @ 0
@a+b+c @ 3 abc

The co-ordinates of the point which divides the line segment joining the points
(4, —3) and (8, 5) in the ratio 3:1 is

(4, —3) == (8, 5) R M @UeF 31 oo TEee 1 "B TR
G|

@ @, 3) ® @ 2
© 37N (d) None of these
GIRRI B8 T

If the product of zeros of the polynomial f(x)=ax’-6x*+ 11x -6 is 4, then a=

o f(x)=ax’ - 6x2 + 11x - 6 Fee AFOH HPRIA T 4 T/, (S0 a=

® 3 ® -3
©3 @ -3
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14. If PT is the tangent at the point T to the circle with centre 0O, if OT=6 cm and
OP = 10 cm, then the length of the tangent PT is

omaﬁquﬁﬂi@PT&WWHT\%OT=6cmWOP=I()cm g, (o
PTa ™6 24

(@) 12cm (b) 4cm
(©) 8cm (d) 16cm

15. If tangent PA and PB from a point P to a circle with centre O are inclined to cach
other at an angle of 80°, then ZPOA is equal to

P fasga a1 O (@@ @4 6%4s wwl PA ure PB mmpefes YOICA 29 80° (I I,
o8 LPOA =

@ 60° (b) 50°
@ 80° @ None of these

G Gbie A=

16. If the circumference of a circle increases from 47 to 8n, then its area is

ﬁﬁ&h%ﬁﬁﬁ%?ﬂ%tﬂ?ﬁ@,mm?iﬁi‘a

@ halved @ doubled

iyl 7
@ tripled @ quadrupled
fefred pifde

17. The volume of two spheres are in the ratio 64 : 27. The ratio of their surface area

1S
Bl GIFRFT TS FARS 64 - 27 TTA PRSP TGS T

@ 1:2 ® 2:3
) 9:16 @ 16:9
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18.

19.

20.

2.b:

A cube of side 6 cm is cut into @ number of cubes each of side 2 cm. The NUMmbg

of cubes formed are

6cmWWW$ﬁm2cmmﬁwmmcwm?

@) 27 ® 12
© 9 @ 6

The mean and mode of a frequency distribution are 28 and 16 respectively. The mediay

1S
aﬁwmﬁ@mmmmwmmzsmm.ﬂwr?

® 22 (o) 235
© @ 245

If the mean of X, x+3, x+6, x+9 and x+ 12 is 10, then x=

I x, x+3, x+6, x+9 JF x+ 123 5@ 10 2T, (9T X =

@ 1 ® 2
© 6 @ 4
The median of first 10 prime numbers is

sl 1051 GTERS SO N Zel

@ 1 ® 12
© 13 @ 14
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nmwmymaammmmsaswa
i G g avA 530 WfEEn v wwien O

® 3 ®
® 3 @

wd jum

o | -

23. One card is drawn at random from a pack of 52 cards. The probability that the drawn
card is not an acc 18

§2 WIEWE LT THWIEK «wa gwa wwers wwies wre B0 W o e ha
Ginee wyiees R

| , 9
= ® 13
o 1
@ 13 @ 52

24. Two coins are tossed simultancously. What is the probability of getting exactly one
head 7

Wt qEt @reems U B LM W@ S5 g0 cotrrn wytfeE @& e

: 1
; ® 3
| 2
® 3 @ 3
25. The probability of a sure event is
&1 Bfse Oam welke 1A
1
® 1 ® 3
1
®© 3 @ o
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26. The HCF of two numbers is 23 and their LCM is 1449. If one of the number i

161, the other number is

o '-q
451 TRy Ao 23 @ #Le 1449 «B W 161 g7 WA A %

(@) 207 (b) 63
(©) 247 (@) 184

27. If the difference between the zeros of 4x* — 8kx + 9 is 4 and k>0, then the value
of k is

4x? - 8kx + 9% Xy (@R oitefay 4 WF k>0 z'tA kA WH 2T

O ®
© @

(SRR
SR IEN N S V)

b | —

28. The product of a non-zero rational and irrational number is

@Bt g SR SF SR YA eawE n 33

(@) always rational
W S

(b) always irrational
T AR

©1

@ rational or an irrational

ARCE A el

PAT-2019/SET-B-5000 (8)




29. 327 is

327 ¥

(2) an integer (b) a rational number
<1 Bre IR ot AR TR

@ a natural number (d) an irrational number
<51 i AR | 51 ARG R

30. If 7th and 13th terms of an A.P be 34 an 64 respectively, then its 18th term is

% G5 ST ST 7 OF E 13 OF 27 W51 AT 34 ¥ 64 2 (90T, 2T 18 ©F
AT 7T

(@) 87 (b) 88
(©) 89 @ 90

1 1

1 ,
31. If <12’ %43’ %45 are in A.P, then x=

1 1 1
Xx+2> x+3° x+5

® s  ®s
©1 j @ 2

™eY gefee AU, o x =

32. If two positive integers m and n are expressible in the form m=pq® and n=p’¢?
where p, q are prime numbers, then HCF (m, n) is

m SIF n G YOl AN SRS FRA! I m=pg’ AE n=p’q%, p WF q B G
Y (ST AAD (m, n) T

@) pq ® pe
© p’¢ @ ¢
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15. The number obtained by

33, The sum of the digits of a tWo digits number 1S ) 5. The umber 18

interchanging the digits exceeds the given number b e
@Twmamammmmﬁlswmmwmﬂmﬁﬁ 1 AR
frt SISt 9 @RI FRAIE! T

@) 96 ® 69
© &7 @ 78

@ 4 ® 3
(©) -2 @ 35

35. The value of ¢ for which the equation ax? +bx + ¢ =0 has equal roots is
1 ax2 +bx + ¢ =0 ANFEGER T Yo AT =, (9T ¢ T AN EG|

b b

2a Za

b? b2

© - 4a Ta

36. Number of tangent that can be drawn to a circle from an external point is

@51 JeT ARRE B S JEBEA BT o= T A T

@ 1 ® 2
@ 3 @ None
PAT-2019/SET-B-5000 (10)



37. If x=1 is a common root of the equations ax*+ax+3=0 and x> +x+b =0, then
ab =

I ax?+ax+3=0 WF X2+x+b=0 7wt [PHRF GO AL T 1 T, (50T ab =
® 3 ® 3
© 6 @ -3

38. Sides of two similar triangles are in the ratio 4 : 9. Ratio of the areas of the triangles
are : '

ol A fages AT SHe 49, Pres difE o6 29
@ 2:3 | | b 4:9
(©) 81:16 (d 16:81

39. The value of sin® 29° + sin® 69° is

sin? 29° + sin? 69°F W TI
® 1 ‘ ® o
(©) 2sin?90° | @ 2 sin61°

40. If tan6 + cotd = 2, then the value of 0 is

W tand + cotd = 2, (ST 0F = T
@ 30° | ® 60°
©) 45° @ 90°
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PART — II (A)
PHYSICS

41. Focal length of a plane mirror is

QU FEH WA TR O 2

@) infinity ® zero

o x|y
@ negative @ positive and small
TS T S T

42. Inside a magnet, the field lines run

P olER foese IR fd

(@) from south to north (o) from north to south

afE (e ol BeR (R S Ter R Al R o e
@ No lines present inside a magnet @ Cannot be predicted

P oot ©lsfe FETEdl FIAS T o[ A

43. If two parallel wires carrying equal currents in the same direction are placed-at a
small distance apart, then

NG O A (O SR e TR [{ge e ai e siffre 37 65dl
@piR & IR

@ No force acts among them

(b) A repulsive force acts between them
Fr¥es woe @3 R e o ol @

@ An attractive force acts between them
Pree e @ SIFt Jca T S

(@ Force acts only when opposite currents are allowed to flow

Roifioyd ey siffre sRez I e 3R
PAT-2019/SET-B—5000 (12)



44. What is the primary source of energy ?

«ferq aliefiie o1 & 2
@ Coal @ Wind

! SIUEY
(c) Water @ Sun

45. To measure the current in an electric device

pfee =iz @ore Rige e gRe s
@ put an ammeter in parailel with it
O TACS SRS O @6t @fSNoiR Acqet FR_T el
- @ put a voltmeter in parallel with it
O TICe NG O] Bl SeSRtR T $RI FCs!
@ put an ammeter in series with it
OR TS (MTRTeI @b iR A IR[T =St
@ put a voltmeter in series with it

Wfﬂt@@%@@ﬁﬁmﬂﬁmﬁwmﬁ

46. The commercial unit of electrical energy kilowatt hour (kWh) is equal to

e «fer afifos s T
(@) 36x10° ; ® 0.36x106]

- (©) 3.6x10% (@ 3.6x10%

PAT-2019/SET-B-5000 » (13) [Turn over



47. The device used for producing electric current is called 2
Rge Bestv e 92T QA TLDE (Rl =

@ Generator @ Galvanometer

T RGO RE O
(©) Ammeter (d Motor
@fiiIR 6F

48. The human eye forms the image of an object at its
(@) cornea (b) iris
@ pupil @ retina

8T e

49. A wire of a given material having length ¢/’ and cross-sectional area A’ has a resistance

of 4Q. The fesistance of another wire of the same material having length I/p and

i cross-sectional area 2A is

(I B TAMITT ) TG T ‘A’ oo O GOFE @Y 4Q. «re SR 1)
R WIF 2A SRS W QUi WidY Q1Y 29

® 12 ® 20 ,
(© 10Q @'SQ_ o
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50. The phenomenon of electromagnetic induction is
Rige FFRE S AREN Taer
(2) the process of charging the body
@l I SRS =R el

@ the process of generating magnetic ficld due to a current passing through a coil

oJiE BIfeTe PUHI® [T CFa Seolifie (xat alferat

(¢) producing induced current in a coil due to relative motion between a magnet
and the coil

FES Wi PN WeAfFES sifon Aim pocTie Wi o R @l

@ the process of rotating a coil of an electric motor

e oo Pa goae e

51. SI unit of power of a lens is

TR o @6 =i (SI) 9 Te

@ dioptre @ ampere

b G
(©) Joule | (d ohm
e - @y

52. The splitting of white light into its component colours is called

35N (AR TR ST I LT (R PR =

(2) dispersion (b) reflection
favgset effoTem

@ total internal reflection @ refraction
o SieR alfSwe eifesrel
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¢, the image formed by @ convex MIrror 1S

53. For any position of the objec 56

| @ Real and erect

Ae oiF A He @i STE!
(c) Virtual and erect @ Virtual and inverted
f=
oPIe o fa | e IS GTEI]

54. Which of the following is not an example of a bio-mass energy source ?

AeRRe @Rt o1 1 W SoR TR T ¢

(@) Wood (b) Gobar gas
o) (IR Cg

(c) Nuclear energy (d Coal
felEn e T

55. When a very small opaque object'is placed on the path of light, it bends around

it, this effect is known as

(iizm TR oS GO Fu S I@ IR, W WK IEE @9l =, @7 ARG

gl A"
(a) Reflection of light (b) Refraction of light
s effowem (AT eifose
(c) Diffraction of light | (d) None of the these
(AT SPIREA ) L GRRE 9Bre T

PAT-2019/SET-B-5000 ' (16)



56. The relation between radius of curvature (R) and focal length (f) of a spherical mirror

is

amcmmmwm(mmaﬁma(ﬂwmm
@ R=2o ® 2R =f

1
© R-7 @ R=a

57. The amount of work done in moving a charge of 3C across two points having potential

difference 15V is
15V Bea covd 4ol P Siced 3 gerd sy AfifRe 20 Irfa HAfase 29

(@) 547 (b) 5
(c) 45 (d 18J

58. Myopia can be corrected by a suitable

Tt Rera ARy IR AWE 94 YT

(a) Concave lens (b) Convex lens
SReE TeE T

@ Concave mirror @ None of the these
S R GERIRE GBS 7=

59. 2 amperes current is equivalent to
1R IR )R NG X9

@ 2¢4 ® 1.6%10 ¢/

2 9 /S 1.6 x10™"° g=17 [ (5rve
© 1% (d) None of these
1 59 /e IR GBIe 7ZH

- PAT-2019/SET-B—5000 (17) [Tum over
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60. Magnification (m) is related t

61.

62.

o the object distance (u) and image distance (V) by the

relation

Wm(u)mﬁ%ﬁﬂaﬁ‘?(w?mﬁ?@mm

Vv
@ T ® u

u

\"4
© & @ 79

\%

A ray of light passing from one medium to another will not change its direction if

the angle of incidence is

GQAE] (RS IR 51 SRR SR S
IfRrz Sieied (I T =

@ 0° ® 90°
© 60° @ 45°

it Teslfere 2dre TN Ao oA A,

The total internal reflection occurs when a ray of light travels from
Wﬁqﬁﬁﬁﬁm‘aﬁmf@mm@mﬂﬁw
(@) a denser medium to a rarer medium
@f% T ofF I A NGACA
(b) vacuum to a denser medium
(SRR 77 WR TS MGACT
@ a rarer medium to a denser medium
TN TS 2} @R wAeS Aggsce
(d) None of the above

QAT B8 T

PAT-2019/SET-B-5000 (18)



63.

64.

65.

The human eye can focus objects at different distances by adjusting the focal length

of the eye lens. This is due to
53 G TR T AP FR T3 vgcw Rifon 7w SR THRE bR AR | 209
Figel (AR

(a) presbyopia | (b) accommodation
caramim BT
() near sightedness (d) far sightedness

The free electrons in a metal

4IPS A T& LGN

@ do not collide with each other
YA TR CICe RIS B 7T
are free to escape through the surface

(o PR oA T AR [&

AW FIe +iF @RR IR &

@ are free to fall into the nuclei
@ are free to move anywhere in the metal

MR T @I Tt oo 7 [l 1@

If a bulb is switched on for 40 second‘ and consumes 2400J of electrical energy then

its power is

40 oTPe TN GER ol A «BiE 2400] WHST *fE Ny Ree ARG TS T
(a) 60w (b) 70W
© sow | | @ 90w
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66.

67.

68.

69.

; . ’ 1 .
The equivalent resistance of ‘n’ resistances each of value, ‘r’ when connected in pargj,

1S

2AfSoIR @Y ‘T

(@ or ®

4l ‘n’Bl @@ TG Fese TR PR O YT @l 7y

-

@nzr @%

In a voltmeter, there are 20 divisions between 0 to 0.5V, the least count of the voltmeter

is

51 SBRGE 03 2/l 0.5V (eI eI 2051 o9 =R SOGIRER AW @Y 35
@ 0.0020V (b) 0.050V
(c) 0.025V (@) 0250V

Resistance of a material depends on

@I oML @y FST T A

(a) temperature (b) length of the material

Gaeo! | AILOR
@ area of cross-section @ All of these
AR A e GEEEE AT IR

An object is placed in front of a convex lens at its principal focus. The image wil

be formed at

Q2 TG Wwﬂl@:ﬁmﬁ%@«ﬂma@wmla@ﬁﬁﬁ%ﬁﬁmm

@ focus @ between F and C
Aifes F =% C3 ere
(©) beyond C @ infinity
C 3 3ifeqe SIS

PAT-2019/SET-B-5000 (20)




70. The minimum height of a plane Mirror to see the full size image of a person is equal

to
o WE (969 o4 AfRT ol AR Wit reR Mol RO ol 29
(@) the height of the person
S g T
@ half the height of the person
Tgzewa Al iyt
(c) one-fourth of the height of the person
NI 99 @3 it
(d) double the height of the person

TeE e gt
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71.

72.

73.

PART - II (B)
CHEMISTRY

neral molecular formula of alkene is

TO (AR

The ge
AR e e
@ CiHoe:
@ CHa -2

@ CnHzn
@ Can+2

Chlorine reacts with saturated hydrocarbons at room temperature in the

mmquﬁﬁmﬂaﬁ@mﬁﬁﬁ?mﬁ@m@

@ absence of sunlight @ presence of sunlight

ﬂgﬁcwwvﬁﬁw A (AT TR

(d) presence of HCI

HCl3 woifEfco

(©) presence of water

AR TAREo

Which of the following are not ionic compounds ?

OoE (IOl I (T T=A 2

(i) CaCl, (i) HCI
(i) CCl, (iv) NaCl
@ (@, (i) ® (), (i)
(©) (i), (iv) , @ (@, (i)
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71.

72.

73.

PART - II (B)
CHEMISTRY

The general molecular formula of alkene is
GERERA TR SRS AT (AR

CH ® CH,

n 2n+2

@ CnHZn -2 @ Can +2

Chlorine reacts with saturated hydrocarbons at room temperature in the

e Saeere FRE MReE ARG e [ =

@ absence of sunlight @ presence of sunlight
TR AR Ao T4 (AR TS

(c) presence of water (d) presence of HCI |
AT TARRfeS HCl= woif¥fes

Which of the following are not ionic compounds ?

GER (IO ST 9t N= 2

(i CaCl, (i) HCI
(i) CCl, (iv) NaCl
@ (), (i (o) (i), (iii)
(© (i), (v) @ (), (iii)

PAT-2019/SET-B-5000 22)



74. The heating of ores in absence of air is ca]led

@ Leaching @ Smelting
fersier oot

@ Calcination @ Roasting
TRIPI oleferel

75. Gas used for cooling in refrigerator is

RFTIETe IRT T (RR[RY TF

(a) Noble gas (b) Water gas
AT olm QoI oz

(¢) Freon (d) Ozone
= e

76. The technique used to separate camphor from salt (NaCl) is
Fofe LT o1 )2 TR IR I AR T

@ Chromatography @ Distillation
SR (G “res

(c) Sublimation (d) Crystallization
Sl g aiatae

77. Which of the following element must present in Amalgam ?

AATS 2l gy Getce! & 2

(@) Carbon (i) ® Mercury (MRFSR)
@ Zinc (&%) | @ Aluminium («@sfifaT)
PAT-2019/SET-B-5000 (23)
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78.

79.

80.

81.

Galvanisation is a method of protecting iron from rusting by coating with a thip laye,

of _
ETTSAIRCED (THIRTEH) SIS (e SN ~fRce At (rolRy

@Cr @Cu
@Zn @ Sn

Which one of the following metals is found in liquid state at room temperature ?

@ Na ®) Fe
(o) Al (d) Hg

Which of the following are unsaturated compounds ?
woTe Al MRS SRS (9l (PN 2
(i) Propane (2ToiA)

(iii) Propyne (2i#ii2e) (iv) Chloropropane (FI2ToI7)

@ (@ (i) ® (i), (v)

(ii) Propene (&)

© (i), @(v) @ (i), (i)

Which of the following is used for dissolution of gold ?

@l TITS FRAA OOl (@I IR IRT AR 2
@ HCI @ H,S0,

Mﬁ?ﬁ «afo @aﬁ—,@ﬁa; aftw
@ HNO, @ Aqua-regia
725 abe S P

PAT-2019/SET-B-5000 (24)



g2, The formula of the chemical, prodyceq in the firing of a magnesium wire is

COITRAR 0 O G oot oy i B TS T

@ MgO

(c) MgCO,

(b) Mg,0

(d MgCO,

83. An element which is an essential constituent of all organic compounds belongs to

FIEN TR CTPARA &S sl sy

(@) Group 1 (3 1)

(c) Group 15 (3 15)

() Group 14 (35 14)

(d Group 16 (35 16)

84. The formula of the oxide of an element (A) is A,O,. The formula of the cloride of the

element will be

€O GToT (A) SRAIZS (TG FACFS T A,0, ; CNFGR FARE @R e 27

® AcL
(© ALl

85. The name of the salt KNO, is
KNO, GsIs 1 241
@ Potassium nitride
soifear wizgize
@ Potassium nitrate

“{oifRzs FIZCEe

PAT-2019/ SET-B-5000

(25)

@ Potassium nitrite
iz wi3GiG
@ Potassium trinitrate

iR G55

[Turn over



86. Accordingto Mendeleev’s Per

iodic Law, the elements are arranged in the periodic tab]e

in order of

O Jecreasing atomic number

(a) increasing atomic number
o, @I Afae T pfaEle] TP SHETO
(c) increasing atomic masses @ Jecreasing atomic masses

e ICRAACAE AL RETENS

sl O TRTA©
87. Which of the following statements about the given reaction are correct ?
oo T RIFRIGR A (! e oa ?
3Fe(s) + 4H,0(s) = Fe,0,(s) * H,0(g)
(i) Ironis getting oxidised (i) Water is acting as a reducing agent
@IS TR (TR A @B KT
(iii) Water is getting reduced (iv) Water is acting as an oxiding agent
AT ReRe (&R | AT GBI T
@ (), (i), (i) ® i), (iv)
© (@, (i, () (@ (i), (iv)
88. The concept of stationaq orbit was given by
FfeTie TFoIXT QIR A8
(@ Thomson (=) O Rutherford (TTITFS)
(c) de Broglie (W J%) (d) Bohr (I)
PAT-2019/SET-B-5000 (26)



89. Which of the following is not a physica] change ?
e B (OIeT »RIET 7y »

@ Boiling of water to give water vapour
AN TEECE (R Ao
(b) Melting of ice to give water
TS ENO (A AN
(c) Dissolution of salt
TR TS TIIeS FRE
(d) Combustion of LPG
LPG= w2

90. Dry ice is
G I TS
(a) Water at —273K temperature
— 273K Sxore I4I A1
@ Carbon dioxide at 1 atm pressure
1 atm Blvfe I PG GIRSSNZG
(©) Solid carbon dioxide
o3 (CsiiDt) PR TIRSIRS
@ Ice kept under a condition of high temperature and pressure

T THO® HF SIS I I9°

91. Electrolysis of water is a decomposition reaction. The mole ratio of hydrogen and oxygen
gases liberated during electrolysis of water is
AT Ry, Rl s Aot et | < RIEeAre o c2ra 22w oo wirs Siffcer cores
T Solts 29 |
@ L.l @ 241
@ 4:1 | @ 1% 2

PAT-2019/SET-B-5000 @n [Durn. oyer



92. Fog is an example of

Pl T

(@) Aerosol (b) Sol
G55 Be

@ Emulson @ Suspension
NABLE) AT

93. Which of the following elements would lose an electron easily ?

O (P! (T2 3T =S G 2

@ Mg @ Na
© K (d Ca
94. Which statement is not true with reference to CO, gas ?
CO, (=R FT>F FIE TS 7oy 7z 2
(@) CO, is one of the greenhouse gases
CO, =& aRiy CTSEz (org

il (b) CO, is released by plants during respiration
PSSt CO, R ficy




95, What happens when a solution of an aciq g mixed with a solution of a base in a test
tube ?

45t OF W1 B! FW T (62 T8 Ny i @ 29 ¢
@ Temperature of the solution decreases
7T SEEel I

Temperature of the solution increases

7] Geet o

SRS =T

®
@ No change will occur
@

Salt formation takes place

R oAES 9

96. Combustion of natural gas is a

AFeT (1R w2l Bl

@ Endothermic reaction @ Exothermic reaction
oA R wloRe Rt

@ Precipitation reaction (d) None of these
sl el | BRI G518 T2

97. Which one of the following does not increase while moving down the group of the
periodic table ?
o it 39 B weitet AT GRS T 2

(@) Atomic radius | (b) Metallic character
AR TP e af

@ Valency @ Number of shell
Qrerol (AT FRAt

PAT-2019/SET-B-5000 2) ERITORES
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98. The acid found in orange is

e (Bere |fbT T

@ Citric acid @ Acetic acid
P2fie afbe , o «fos

@ Tartaric acid @ Lactic acid
SIBIRT «foe g afee

99. In stainless steel, iron is mixed with

Awes Sre mﬁmﬁmﬁiiﬂ

(@) Ni, Cr (b) Cu, Cr
(©) Ni, Cu (d Cu, Au

100. Which of the following is not an allotrope of carbon ?
TR (IO P SRE = 2

(@) Diamond () Graphite
= (2FPIZ
@ e @ Fullerene
i TafifRe

PAT-2019/SET-B-5000
. (30)



